Тест 

по теме “Корни, степени и логарифмы»

Вариант 1.

1.  Вычислите: [image: image1.png]V/81-0,0001)




      1)[image: image2.png]


        2)-0,3        3) 0,3        4) 0,9

2.  Вычислите: [image: image3.png]V2005 — 1-+/1+ /2005
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3. Упростить выражение: 
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4. Упростить выражение: 
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5. Вычислите:  
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6. Вычислите: [image: image15.png]log; 8 —log, 2 +1log, 9




    1) [image: image16.png]log, 15



             2) [image: image17.png]log, 13



          3) 2          4) 0,5

7. Найдите значение выражения: [image: image18.png]log; 15 —1ng,§+ 1ng,;—,
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8. Укажите значение выражения: [image: image19.png]logs, 16 — 1ug5§
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9.Укажите значение выражения: [image: image22.png]logglog, log, 16
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10. Упростите выражение 
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Тест 

по теме “Корни, степени и логарифмы»

Вариант 2.

1. Вычислите 
[image: image24.emf]3
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2. Вычислите  
[image: image25.emf]3
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3. Упростите выражение    
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4. Упростить выражение 
[image: image27.emf](

216 а

9

125 с

−6

)

−

1

3


1) 
[image: image28.emf]5

6 а

3

с

2

       2) 
[image: image29.emf]1,2 а

3

с

2

         3) 
[image: image30.emf]25 с

2

36 а

3

         4) 
[image: image31.emf]5 с

2

6 а

3


5.  Вычислите: [image: image32.png](142%)*—
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6. Вычислите: [image: image34.png]log; 8 —log; 2 +1og5§
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7. Найдите значение выражения: [image: image35.png]logas 7 +
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8. Вычислите: [image: image36.png](V5)loes 18
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9. Вычислите: 
[image: image38.emf]log
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10. Упростить выражение 
[image: image39.emf]lg 27 +lg 12
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